
Kapitel 6 Extra Activity Sheet

Übung 6.1

Ordnen Sie folgende Wörter in amerikanisches Englisch (AE) und britisches Englisch (BE).

chips

coffee shop

French fries

high street

jumper

main street

pants

pantyhose

a shop

shopping centre

shopping mall

a store

sweater

tea room

tights

trousers

Übung 6.2

Bilden Sie den Komparativ der Adjektive in den folgenden Sätzen.

(a) I need a ____________________ (large) size.

(b) A sweater is ____________________ (comfortable) than a blouse.

(c) A sun hat is usually ____________________ (wide) than other hats.

(d) Victoria Beckham’s garments are ____________________ (expensive) than my garments.

(e) Who is ____________________ (elegant): Mary, Kate, or Letizia?

(f) Chuck ate a big lunch; now his pants are ____________________ (tight) than before.
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(g) This striped tie is ____________________ (old) than that pink tie.

(h) Is it ____________________ (fashionable) to wear gray or black this year?

Übung 6.3

In jede Gruppe hat sich ein falsches Mitglied eingeschlichen. Finden Sie es.

Gruppe 1:

blouse

skirt

pantyhose

tie

nightgown

Gruppe 2:

purple

checks

polka dots

stripes

Gruppe 3:

Independence Day

Martin Luther King’s Day

Columbus Day

Presidents’ Day

Boxing Day
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Lösungen für Übung 6.1
Amerikanisches Englisch:

coffee shop

French fries

main street

pants

pantyhose

shopping mall

a store

sweater

Britisches Englisch:

chips

high street

jumper

a shop

shopping centre

tea room

tights

trousers

Lösungen für Übung 6.2

(a) I need a larger size.

(b) A sweater is more comfortable than a blouse.

(c) A sun hat is usually wider than other hats.

(d) Victoria Beckham’s garments are more expensive than my garments.

(e) Who is more elegant: Mary, Kate, or Letizia?

(f) Chuck ate a big lunch; now his pants are tighter than before.

(g) This striped tie is older than that pink tie.

(h) Is it more fashionable to wear gray or black this year?

Lösungen für Übung 6.3

Gruppe 1: tie

Gruppe 2: purple

Gruppe 3: Boxing Day


